B AOSX oUT IN GROSS  HDCP NET

E B =EH EE 41] 39 80 9.0 71.

EER FAE SZ 3038 | 771 5.0 72.0
i Il FAT 39 43 82 10.0 72.0
A TN E 43 42 | 85/ 12.0 73.0
ofi JKE FHMA 40 41 81, 7.0 74.0
6L PN BE 46 39 | 85/ 10.0 75.0
i x5 46 41 8/ 12.0 75.0
8hL FixE FHot 4343 | 86 11.0 75.0
O |%& EE 40| 40 80 5.0 75.0
106 B8R mWEZ 41143 84 9.0 75.0
140 % HEE 3746/ 83 8.0 75.0
1262 WA it | 46 41 87 11.0 76.0
1360 &0 F | 46| 41 87 11.0 76.0
1450 HFE ZE= 4440 84 8.0 76.0
156 #2F sA=E 44, 41 85 9.0 76.0




BHWF BOISX ouT  IN GROSS  HDCP NET

f55 IEX 43] 49 92 25.0 67.0
E g [ERE) 42| 41 83 14.0 69.0
_________ 3 H I |43 48 91/ 22.0 69.0
M TH (HEk 51| 47 98| 28.0 /0.0
b4z I a1= 43 44 | 87] 15.00 72.0
i = y =) 41 45 86/ 13.0 73.0
i #ZIR F 49 47 96 22.0 74.0
8 WA Jt5 511500 101 26.0 75.0
Ofu Mps RBFE 44/ 46 90, 15.0 75.0
102 | TTIA =5t 57/ 511 1108 32.0 76.0
11460 5T FBX 47 44 9011 15.0/ 76.0
1260 AE JtH 5353|106 30.0/ 76.0
1362 /MrRHE B1T 51151 102] 26.0/ 76.0
144 #E =— | 48] 48 96 20.0 76.0
156 BJIl HZE 5152 [103] 27.0 76.0




A% LT1—R ouT N GROSS  HDCP NET

B B Bfa BEH #36 | 771 7.0 70.0

R A mE 38 43 | 81] 10.0 T71.
e AlA EF 0 447 91 18.0 73.0
A ®HE =HL 43 40, | 83 9.0 74.0
ofii K& =Hb 42 38/ | 80/ 5.0 75.0
6 == F 7 43 39 82 6.0 76.0
L &m B 43 41 84 8.0 76.0
8fii 2EB X 40 41 81 4.0 77.0
Oz A TR 43 38 811 3.0 78.0
1060 $n K EIRF 49 48 | 97 19.0 78.
11z HIE #BF 48 41 89/ 10.0 79.
126 tERK BE 47 41 88 7.0 81.
136 HFT M 41 47 88 /1.0 8I.
1467 FHE —XK ‘5257 109 26.0 83
15 &l #7% 51 51 |102] 17.0 85.




